
DIE GRINDER DD 500 PLUS 20/05/2024

ART. NUMBER: 45334
MODEL: DIE GRINDER DD 500 PLUSSHEET: 1/2

47

22 23 24

34

SET 2 SET 3

323130

25 26 27
29

38

41
42

39

44
45 40 46

SET 1

4
5

7
8 9 10

11 12 14 15 16 17 18 20 21

19

48

13

POS. CODE DESCRIPTION QTY
4 A02905 GEARBOX COVER 1

5 A02906 GEARBOX 1

7 A02907 SPACER 1

8 A02908 SPINDLE 1

9 A02909 SHAFT 1

10 A00658 BALL BEARING 6001 2RS 1

11 A02910 SNAP RING ∅12mm 1

12 A00583 BALL BEARING 6200 2RS 1

13 A02911 WAVE WASHER 1

14 A02912 SNAP RING ∅30mm 1

15 A02913 O-RING 4

16 A02914 CONNECTION 1

17 A02915 SNAP RING ∅8mm 1

18 A02578 BALL BEARING 608 2RS 1

19 A00060 BOLT M4x10mm 2

20 A02916 GEARBOX PLATE 1

21 A02917 ARMATURE 1

22 A02918 SHAFT 1

23 39618 BALL BEARING 607 2RS 1

24 A02919 BEARING COVER 1

25 A02920 FAN COVER 1

26 A02921 ANTI-VIBRATION 2

27 A02922 FIELD 1

29 A02924 HOUSING 1

30 A03407 SCREW ST 4x10mm 2

31 A02925 CARBON BRUSH CAP 2

32 A01789 SCREW ST 3x8mm 2

34 A02927 CARBON BRUSHES, SET 2 PCS 1



DIE GRINDER DD 500 PLUS 20/05/2024

ART. NUMBER: 45334
MODEL: DIE GRINDER DD 500 PLUS

POS. CODE DESCRIPTION QTY
38 A02929 WIRING CLAMP 1

39 A02930 POWER CORD CLIP 1

41 A02931 INDUCTANCE 1

42 A02932 CAPACITOR 1

44 A02934 POWER CORD GUARD 1

45 A02935 HOUSING 1

46 39387 POWER CORD WITH PLUG H05RN-F 2Χ1mm, 4m 1

47 A04770 SPECIAL TOOL WRENCH 10/12 1

48 A04771 SPECIAL TOOL WRENCH 14/17 1

SET 1 A05039 COLLET CHUCK 6mm WITH NUT 1

SET 2 A02926 CARBON BRUSH HOLDER WITH SPRING 2

SET 3 A02928 SWITCH WITH COVER 1

SHEET: 2/2

47

22 23 24

34

SET 2 SET 3

323130

25 26 27
29

38

41
42

39

44
45 40 46

SET 1

4
5

7
8 9 10

11 12 14 15 16 17 18 20 21

19

48

13


